
IS-BPCHESTHARNESS REV2021-10-13

Bodypoint® Chest Harness
Supplier: These instructions must be given to the user of this product.
Operator (Individual or Caregiver): Before using this product, read instructions and save for future reference.

Available: Chest Harness Extension Kit. To order, contact the equipment provider or Customer Support.  

Instructions

WARNINGS: 
	- After installation is complete, check the product for 
proper functioning. Follow all instructions and safety 
information provided with the product and provided 
by the manufacturer of the wheelchair or other 
accessories. 

	- Check daily to make sure that all hardware is fully 
tightened. DO NOT use the product if any part cannot 
be tightened or is broken. 

	- If you are unable to perform any tasks described in this 
document, seek assistance by contacting the clinician, 
equipment provider, distributor, or Customer Support.

Package contents

A harness, including the straps, cinch-mount, plastic tab
Note: An image of the complete harness is not 
included in this instruction sheet. 

B washer #10 SAE (x2)

C 10-32 x 5/8” button-head cap screw (x2)

D 10-32 nut UNF nylon fastener (x2)

included: 1/8″ hex key
not included: 3/8″ wrench

1 Lay the harness on the backrest shell, with the top straps 
hanging over the backrest shell, and the bottom straps below 
the backrest shell. 

cinch-mount 

plastic tab

Fig. 1 Fig. 2 Fig. 3

2 Detach the bottom flap of the backrest cover from the 
backrest shell.

3 Attach the harness to the backrest shell: Insert the screws (C) 
and washers (B) through the harness at the cinch-mount and 
plastic tab (A), and then into the holes located at the bottom 
of the backrest shell, and secure with the nuts (D). 
Order of assembly: screw (C) – washer (B) – cinch-mount 
and plastic tab (A) – backrest shell – nut (D)

When fastening, use the 1/8″ hex key for the screws (C) and the 
3/8″ wrench for the nuts (D).

4 Reattach the cover: rotate the cinch-mounts sideways, 
reattach the cover, then rotate both cinch-mounts back to the 
original position.

5 Make sure that both screws are securely fastened, and then 
tighten the harness by pulling the straps downward. (Fig. 1) 
Close the cinch-mounts to secure the straps in place. 

If the cinch-mounts need to be adjusted, use the hex key to 
pry them open.

6 Insert the top straps into the shell guide slots. (Fig. 2)

7 To tighten the top straps, pull the plastic D-loops, located at 
the ends of the pull straps. (Fig. 3)

The Comfort Companies, LLC 
1960 South Calhoun Road, New Berlin, WI 53151 U.S.A.

Contact Information: 800.736.0925   
Customer Support: orders.comfort@permobil.com

© 2018, 2021 Permobil

The Comfort Companies, LLC is a part of Permobil.
Product information is changed as needed; current product information 
is available at permobil.com. Contact Customer Support for previous 
versions of product information.
Bodypoint® is a registered trademark of Bodypoint, Inc.


